



Generalized Beta Functions Involving New Generalized Hypergeometric Functions and Its Applications

Naresh Dudi¹, Meena Kumari Gurjar², Anil Kumar Vishnoi³

^{1,2,3} Department of Mathematics and Statistics, Jai Narain Vyas University, Jodhpur, Rajasthan 342001, India

ARTICLE INFO	ABSTRACT
<p>Published online: 01 August 2023</p> <p>Corresponding Name Naresh Dudi</p>	<p>The main of this research is to provide a systematic review of a new type of generalized beta function beta function involving a new generalized hypergeometric function. We also obtain a certain integral representation and summation formulas. Furthermore, we also study beta distributions and their properties.</p>
<p>KEYWORDS: Beta function, Integral representations.</p>	

1. INTRODUCTION

The Gaussian hypergeometric function ${}_2F_1$ is among most important special functions. In the recent years so many different author's [1-7] have been investigated numerous

generalizations of the Gaussian hypergeometric function ${}_2F_1$. The Gaussian hypergeometric function can be used to express the probability distribution of the Beta distribution, which is a continuous probability distribution that is often used to model the distribution of proportions.

In 1994, Chaudhary and Zubair [2] introduced the following extension of the gamma function

$$\Gamma_\rho(\lambda_1) = \int_0^\infty t^{\lambda_1-1} \exp(-t - \rho t^{-1}) dt, \quad (Re(\rho) > 0, Re(\lambda_1) > 0). \tag{1}$$

In 1997, Chaudhary et al. [8] presented the following extension of Euler's beta function

$$B_\rho(\lambda_1, \lambda_2) = \int_0^1 t^{\lambda_1-1} (1-t)^{\lambda_2-1} \exp\left(-\frac{\rho}{t(1-t)}\right) dt, \tag{2}$$

$(Re(\rho) > 0, Re(\lambda_1) > 0, Re(\lambda_2) > 0)$,

and they demonstrated that this extension has connections to the Macdonald, Error and Whittakers functions. Apparently it seems that $\Gamma_0(\lambda_1) = \Gamma(\lambda)$ and $B_0(\lambda_1, \lambda_2)$.

In 2011, Ozergin [9] (see also Ozergin et al. [10]) introduced and studied a further potentially useful extension of the gamma and beta functions as follows:

$$\Gamma_\rho^{k_1, k_2}(\lambda_1) = \int_0^\infty t^{\lambda_1-1} {}_1F_1(k_1, k_2; -t - \rho t^{-1}) dt, \tag{3}$$

$(Re(k_1) > 0, Re(k_2) > 0, Re(\lambda_1) > 0, Re(\lambda_2) > 0 \text{ and } Re(\rho) > 0)$,

and

$$B_\rho^{k_1, k_2}(\lambda_1, \lambda_2) = \int_0^1 t^{\lambda_1-1} (1-t)^{\lambda_2-1} {}_1F_1\left(k_1; k_2; -\frac{\rho}{t(1-t)}\right) dt, \tag{4}$$

$(Re(k_1) > 0, Re(k_2) > 0, Re(\lambda_1) > 0, Re(\lambda_2) > 0 \text{ and } Re(\rho) > 0)$,

correspondingly, where ${}_1F_1$ represents the confluent hypergeometric function given in [11].

We clearly, have

$$\Gamma_\rho^{k_1, k_1}(\lambda_1) = \Gamma_\rho(\lambda_1), \tag{5}$$

$$\Gamma_0^{k_1, k_1}(\lambda_1) = \Gamma(\lambda_1), \tag{6}$$

and

$$B_\rho^{k_1, k_1}(\lambda_1, \lambda_2) = B_\rho(\lambda_1, \lambda_2), \quad B_0^{k_1, k_2}(\lambda_1, \lambda_2) = B(\lambda_1, \lambda_2). \tag{7}$$

2.Extension of Beta Function: In this section, we first define the new generalized beta function and show that it can be expressed in terms of the new generalized hypergeometric functions. We then derive a integral representation and properties of these function.

In the present paper the authors introduced a new extension of classical beta function associated with new generalized hypergeometric function in the form

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = \int_0^1 t^{\lambda_1-1} (1-t)^{\lambda_2-1} 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1-t))dt \tag{8}$$

where $\{Re(\lambda) > 0, Re(\alpha) > 0, Re(\beta) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$ and less than 2.0335}.

If $m = 0, \omega = 1, \beta = \tau, \lambda = a$ and $a = c$ then equation (8) reduces to classical beta function.

2.1 Integral representation of Extended Beta Function

Theorem 1. If $Re(\lambda_1) > 0, Re(\lambda_2) > 0, Re(\lambda) > 0, Re(\alpha) > 0, Re(\beta) > 0, Re(\lambda) > 0, Re(\alpha) > 0, Re(\beta) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$ and less than 2.0335, then we have the following relation, then

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = 2 \int_0^{\frac{\pi}{2}} \cos^{2\lambda_1-1}\theta \sin^{2\lambda_2-1}\theta 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; m \cos^2\theta \sin^2\theta)d\theta , \tag{9}$$

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = \int_0^\infty \frac{u^{\lambda_1-1}}{(1+u)^{\lambda_1+\lambda_2}} 3R2\left(\lambda, \alpha, \beta; \gamma, \tau; \omega; \frac{mu}{(1+u)^2}\right) du \tag{10}$$

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = \frac{1}{2} \int_0^\infty \frac{u^{\lambda_1-1} + u^{\lambda_2-1}}{(1+u)^{\lambda_1+\lambda_2}} 3R2\left(\lambda, \alpha, \beta; \gamma, \tau; \omega; \frac{mu}{(1+u)^2}\right) du \tag{11}$$

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) =$$

$$(l_1 - l_2)^{1-\lambda_1-\lambda_2} \int_{l_1}^{l_2} (u - l_2)^{\lambda_1-1} (l_1 - u)^{\lambda_2-1} 3R2\left(\lambda, \alpha, \beta; \gamma, \tau; \omega; \frac{m(u-l_2)(l_1-u)}{(l_1-l_2)^2}\right) du \tag{12}$$

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = 2^{1-\lambda_1-\lambda_2} \int_{-1}^1 (1+u)^{\lambda_1-1} (1-u)^{\lambda_2-1} 2\left(\lambda, \alpha, \beta; \gamma, \delta; \omega; \frac{m(1-u^2)}{4}\right) du \tag{13}$$

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) = 2^{1-\lambda_1-\lambda_2} \int_{-\infty}^\infty e^{(\lambda_1-\lambda_2)x} 3R2\left(\lambda, \alpha, \beta; \gamma, \tau; \omega; \frac{m}{4\cosh^2x}\right) \frac{dx}{(\cosh x)^{\lambda_1+\lambda_2}} \tag{14}$$

Proof: Substituting $t = \cos^2\theta$ in equation (8) we get equation (9); to obtained (10) choose $t = \frac{u}{u+1}$; Applying symmetry property in (10) then adding new one we obtained equation (11). By putting $t = \frac{u-l_2}{l_1-l_2}$ in equation (8) we achieved equation (12). Setting $l_2 = 1, l_1 = -1$ in (12) gives the result (13). Result (14) can be obtained by setting $u = \tanh x$ and using $\tanh x = \left(\frac{e^{\lambda_1} - e^{\lambda_2}}{e^{\lambda_1} + e^{\lambda_2}}\right)$ in equation (13).

2.2 Properties of the New Extension of the Classical Beta Function

Theorem 2 If $Re(\lambda_1) > 0, Re(\lambda_2) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$ and less than 2.0335, then we have the following relation

$$B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2 + 1) + B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1 + 1, \lambda_2) = B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega}(\lambda_1, \lambda_2) \tag{15}$$

Proof: By LHS of equation (15) and using definition , we have

$$= \int_0^1 t^{\lambda_1-1} (1-t)^{\lambda_2} 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1-t))dt + \int_0^1 t^{\lambda_1} (1-t)^{\lambda_2-1} 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1-t))dt \tag{16}$$

$$= \int_0^1 [t^{\lambda_1-1}(1-t)^{\lambda_2} + t^{\lambda_1}(1-t)^{\lambda_2-1}] 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1-t))dt \tag{17}$$

$$\int_0^1 t^{\lambda_1-1} (1-t)^{\lambda_2-1} 3R2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1-t))dt = B_{\lambda,\alpha,\beta;\gamma,\tau,m}^{MC,\omega} \tag{18}$$

Remark

1. If we set $\omega = 1, \lambda = \alpha, \beta = \tau$, (15) reduces to the result given earlier by [1].

2. For $m = 0, \omega = 1, \lambda = \alpha, \beta = \tau$, (15) reduces to the classical beta function.

Theorem 3 If $Re(\lambda_1) > 0, Re(1 - \delta) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$, then we have the following summation relation

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, 1 - \delta) = \sum_{n=0}^{\infty} \frac{(\delta)_n}{n!} B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + n, 1) \tag{19}$$

Proof. By the help of equation (8) LHS of (19) gives

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, 1 - \delta) = \int_0^1 t^{\lambda_1 - 1} (1 - t)^{1 - \delta - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt \tag{20}$$

$$= \int_0^1 t^{\lambda_1 - 1} (1 - t)^{-\delta} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt \tag{21}$$

Using the binomial expansion $(1 - t)^{-\delta} = \sum_{n=0}^{\infty} \binom{\delta+n}{n} t^n$ in (21) and then interchanging the order of summation and integration, result (21) reduced in the following form

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, 1 - \delta) = \sum_{n=0}^{\infty} \binom{\delta+n}{n} t^n \int_0^1 t^{\lambda_1 + n - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt \tag{22}$$

$$= \sum_{n=0}^{\infty} \frac{(\delta)_n}{n!} B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + n, 1) \tag{23}$$

Theorem 4 If $Re(\lambda_1) > 0, Re(\lambda_2) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$, then we have the following second summation relation

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2) = \sum_{n=0}^{\infty} B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + n, 1 + \lambda_2) \tag{24}$$

Proof. The LHS of equation (24) can be written as

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2) = \int_0^1 t^{\lambda_1 - 1} (1 - t)^{\lambda_2 - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt \tag{25}$$

Considering the binomial series expansion,

$(1 - t)^{\lambda_2 - 1} = (1 - t)^{\lambda_1} \sum_{n=0}^{\infty} t^n$, $|t| < 1$, and interchanging the order of summation and integration, (25) reduces to

$$B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2) = \int_0^1 t^{\lambda_1 + n - 1} (1 - t)^{\lambda_2 + 1 - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt \tag{26}$$

$$= \sum_{n=0}^{\infty} B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + n, 1 + \lambda_2) \tag{27}$$

3. The Beta distribution of generalized beta function $B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)$.

The generalized beta distribution is with parameters λ_1 and λ_2 such that $-\infty < \lambda_1 < \infty, -\infty < \lambda_2 < \infty$ and $Re(\lambda) > 0, Re(\alpha) > 0, Re(\beta) > 0, Re(\gamma) > 0, Re(\tau) > 0, m \in \mathbb{C}, |m| < M; M \in R^+$ will be applied to a random variable X with a probability density function (pdf) $f(t)$ is given by

$$f(t) = \begin{cases} \frac{t^{\lambda_1 - 1} (1 - t)^{\lambda_2 - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t))}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)}, & 0 < t < 1 \\ 0, & otherwise \end{cases} \tag{28}$$

If r is any real number then

$$E(X^r) = \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + r, \lambda_2)}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} \tag{29}$$

In particular, for $r = 1$, the expected value of the random variable X is obtained as

$$\mu = E(X) = \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + 1, \lambda_2)}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} \tag{30}$$

and the variance of the random variable X, σ^2 is obtained as

$$\sigma^2 = E(X^2) - [E(X)]^2$$

$$\begin{aligned}
 &= \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + 2, \lambda_2)}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} - \left\{ \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + 1, \lambda_2)}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} \right\}^2 \\
 &= \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2) B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + 2, \lambda_2) - \{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + 1, \lambda_2)\}^2}{\{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)\}^2} \tag{31}
 \end{aligned}$$

The moment generating function is defined by

$$\begin{aligned}
 M(t) &= \int_0^\infty e^{t x} f(x) dx = \sum_{n=0}^\infty \frac{t^n E(X^n)}{n!} \\
 &= \frac{1}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} \sum_{n=0}^\infty B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1 + n, \lambda_2) \frac{t^n}{n!} \tag{32}
 \end{aligned}$$

The commutative distributive function of (28) is given by

$$F(x) = \frac{B_{\lambda, \alpha, \beta; \gamma, \tau, m, x}^{MC, \omega}(\lambda_1, \lambda_2)}{B_{\lambda, \alpha, \beta; \gamma, \tau, m}^{MC, \omega}(\lambda_1, \lambda_2)} \tag{33}$$

where

$$\begin{aligned}
 B_{\lambda, \alpha, \beta; \gamma, \tau, m, x}^{MC, \omega}(\lambda_1, \lambda_2) &= \int_0^x t^{\lambda_1 - 1} (1 - t)^{\lambda_2 - 1} {}_3R_2(\lambda, \alpha, \beta; \gamma, \tau; \omega; mt(1 - t)) dt, \tag{34} \\
 &\{-\infty < \lambda_1 < \infty, -\infty < \lambda_2 < \infty, |m| < M; M \in R^+\}
 \end{aligned}$$

is the new extended incomplete beta function, for $m = 0, \omega = 1, \lambda_1, \lambda_2 > 0$, equation (34) convergence, and

$B_{\lambda, \alpha, \beta; \gamma, \tau, 0, x}^{MC, 1}(\lambda_1, \lambda_2) = B_x(\lambda_1, \lambda_2)$, where $B_x(\lambda_1, \lambda_2)$ is incomplete beta function defined by [5].

4. CONCLUSIONS

We believe that generalized beta functions and new generalized hypergeometric functions are a powerful tool for solving a wide range of problems in mathematics, physics, and engineering. We hope that this paper will stimulate further research on these functions and their applications. We conclude the paper by discussing the future directions of research on generalized beta functions and new generalized hypergeometric functions.

REFERENCES

1. P. Agarwal, J. Choi, and R. B. Paris, “Extended Riemann-Liouville fractional derivative operator and its applications,” *The Journal of Nonlinear Science and Applications*, vol. 8, no. 5, pp. 451–466, 2015.
2. M. A. Chaudhary and S. M. Zubair, “Generalized incomplete gamma function with applications,” *Journal of Computational and Applied Mathematics*, vol. 55, no. 1, pp. 99–123, 1994.
3. M. A. Chaudhary, A. Qadir, H. M. Srivastava, and R. B. Paris, “Extended hypergeometric and confluent hypergeometric function,” *Applied Mathematics and Computation*, vol. 159, no. 2, pp. 589–602, 2004.
4. J. Choi, M. I. Qureshi, A. H. Bhat, and J. Majid, “Reduction formulas for generalized hypergeometric series associated with new sequences and applications,” *Fractal Fract*, vol. 5, p. 150, 2021.
5. J. Choi, “Certain applications of generalized Kummer’s summation formulas for 2F_1 ,” *Symmetry*, vol. 13, p. 1538, 2021.
6. H. M. Srivastava and J. Choi, *Zeta and Q-Zeta Functions and Associated Series and Integrals*, Elsevier Science Publishers, New York, NY, USA, 2012.
7. H. M. Srivastava and P. W. Karlsson, *Multiple Gaussian Hypergeometric Series*, Halsted Press, New York, NY, USA, 1985.
8. M. A. Chaudhary, A. Qadir, M. Rafique, and S. M. Zubair, “Extension of Euler’s beta function,” *Journal of Computational and Applied Mathematics*, vol. 78, no. 1, pp. 19–32, 1997.
9. E. Ozergin, Some properties of hypergeometric functions, Ph.D. thesis, Eastern Mediterranean University, North Cyprus, Turkey, 2011.
10. E. Ozergin, M.A. Ozarslan, A. Altin, Extension of gamma ,beta and hypergeometric functions, *J. Comput. Appl. Math.*, 235(2011), 4601-4610.

11. H.M. Srivastava, H.L. Manocha, A treatise on
generating functions, Halsted press (Ellis Horwood

Limited, Chichester), John Wiley and Sons, New
York, Chichester, Brisbane and Toronto, 1984